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Balancing Equations
(answers on reverse side)

CppH»01 + O, — CO, + H,O (1)
C + H,SO, — CO, + H,O + SO, 2
CH, + NH; + H,O — GC,HgNO, + H, 3)
NO — N,O + NO, (4)
Ca(PO4), + NaCO; — CaCO; + NagPO, 5
Na,SO, + BaCl, — NaCl + BaSO, (6)
CO, + H,O — CgHpO5 + Oy (7
Pb(NO3z), — PbO + NO, + O, (8)
NH; + NbO — N, + H,0 9)

HNO, — HNO; + NO + H,O (agebraic method) (10)



2

Zn + HNO; + NO — Zn(NOs3), + NH; (agebraic method)

SFG + HI — st + HF + |2

N205 + Hzo — HN03

N2H4 + N02 — N2 + H20

NO, + H,O0 — HNO; + NO

HN03 + Cu — CU(N03)2 + Hzo + N02

Fe,O; + H, — Fe + FeO + H,O

st + SOZ — S+ Hzo

NH4;NOz; + CpoHy — CO, + H,O + N, (algebraic method)

C8H14N4O5 + Hzo — C2H5N02
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